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C) 	 LIFE SCIENCE 

LSE-09 : ANIMAL DIVERSITY-I 

Time : 3 Hours 	 Maximum Marks : 75 

Note : Question no.1 is compulsory. Answer any six questions 
from question no. 2 to 8. 

1. 	(a) 	Fill in the blanks : 	 1x4=4 

(i) 	The process by which living organisms 
acquire and use energy is called 

(ii) The respiratory pigment found in 
cephalopods is 	 

(iii) In most insects excretion takes place 
by 	 

(iv) Larvae of mosquitoes are known as 

(b) State whether the following statements are 
True (T) or False (F) : 	 1x4=4 

(i) Hemichordates show schizocoelous 
origin of coelom. 

(ii) Blood vascular system of the Annelids 
is of closed type. 
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(iii) Palolo worm shows tidal rhythm. 

(iv) The respiratory organs of 
onychophorans are tracheae. 

(c) Choose the correct answer : 	 1x3=3 

(i) 	Echinopluteus is the characteristic 
larva of : 

(A) Sea urchin 

(B) Sea cucumber 

(C) Feather star 

(D) Brittle star 

(ii) 	Conjugation is characteristic feature 
of : 

(A) Ciliates 

(B) Phytoflagellates 

(C) Radiolarians 

(D) None of the above 

(iii) Venus flower basket is an example of 
phylum : 

(A) Cnidaria 

(B) Echinodermata 

(C) Porifera 

(D) Annelida 

(d) Differentiate between : 	 2x2=4 

(i) Protostomia and Deuterostomia 

(ii) Polyp and Medusa 
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2. 	(a) Give the common and scientific names of 	1 
the parasite that causes liver rot in sheep. 

(b) With the help of suitable diagrams, explain 	8 
the life cycle of this parasite. 

(c) Which is the infective stage of this parasite ? 	1 

	

3. 	(a) With the help of an example, explain 	6 
Epitoky. Substantiate your answer with a 

suitable diagram. 

(b) What is the function of Aristotle's lantern ? 	4 
Draw a neat and well labelled diagram of 

Aristotle's lantern. 

	

4. 	Define the term pseudopodia. Describe the 10 
different types of pseudopodia found in 

protozoans with the help of diagrams. Give one 

example of each type of pseudopodia. 

	

5. 	(a) Give the scientific and common names of 	3 
the three Indian species of Locust. 

(b) Explain how honeybees are able to 	7 
communicate with each other. Give the 

name of the scientist who received the Nobel 

prize for his research in this field. 
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6. 	(a) Give any four characteristics of the class 	2 

cephalopoda. 
(b) Explain how is Octopus able to escape from 	1 

its enemies. 
(c) Name the two larvae that are formed during 	7 

the development of starfish. Draw neat, 
labelled diagrams of the two larvae. 

	

7. 	(a) Describe the Colonial theory to explain the 	8 
origin of metazoa. 

(b) Write any two differences between male and 	2 

female Ascaris. 

	

8. 	Write short notes on any two of the following. 
Draw neat, well labelled self explanatory 
diagrams wherever necessary : 	 5+5=10 
(a) Compound eye of insects 

(b) Biting and chewing type of mouthparts of 
insects. 

(c) Coelom 
(d) Pearl formation in Mollusca. 
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LSE-09 	 6 



(d) 	-1 44 3t-d74 c I 	t: 
	

2x2=4 

(i) 

	

	 4-111 3* Vt 	t-d) q I 

tlfrffq 3* ATTE 

	

2. 	(a) 	̀Tzl-T7--J ici -I 	. 14 f ff 4401t *Rut 	1 

	t 31=It 	 30-{17A-T 1144 Th-tI7 I 

(b) 397p?[ 31-1W .111- 	 4 ,-1141* -1---q-ff- 	8 

"ci9i1 1;1 oiRsii 

(c) ltd trTtt cb? Ttwri:ft31'0-i 4 t? 	 1 

	

3. 	(a) 	dqtkur 	 fqfq ch .q1(.9eAr 1 i & I 	6 

347-4 	TIT2T-Tr[21-  

(b) 3R-q 	oto 	 ? 311  rn1 4 

OM 	 -.11='c.9 A 114-1Irchd 3 	GI -11 1  I 

	

4. 	 LIRITrErr fofigm 3.11 k♦ V-R-11 -4, 	10 

A.31-9)'14 	,114 -q-r 	4lq4 ml quii F—A7 I 

-17WR 

 

	

4iqr44 	 dquI 	q11,-R 

	

5. 	(a) 	fz 	1 4 	 1-17-44 	 (7rftd-i'f)*-1-- Tr-9--- 	3 

-W-1 f- t171 

(b) 141-11- I4 14 LI tk•ti tTI.141117 WT4 *1 fq-fqt 41 	7 

own 	 4q f--TT 

w-bR RFTE f rT dNml 	T .1c1 	I 

LSE-09 	 7 	 P.T.O. 



6. (a) 2 c4 	-cut fq-N-rt 	.Tuf 

(b) 1 -51-W1T 3-11:14 r3 	fir 	3-1#E1cM 3-Tc191 a-c.1 lc( 

t, 3ti fq-N-  ci-C1 ciRsit ttrA7 

(c) 7 -q-Rq 	ltl' 1 riital 

-114-1 fF{1 	I 	q1.41 riRcfrA 	tats 

H Ch Cf 3Tft71 q9-7 

7. (a) 8 4-a-pbTr 4) 3ci4Td 4-)1 qui-9 tT4 	rzti 4-)1(11-ik 

Hd 	oiRsit 	7 I  

(b) 2 atl-T 1TTT 	-W)1 	atd-{ .4-d77 I 

8. -14-1 ci 	-A 	 41k-P7f 	ffft17 I 

-cr6 -114-1 irch 	0,-ARsqloda, 

5+5=10 

(a) Thdf chi Tf?iq 	ch+-4WS 	 

(b) t 	r (qqr--t9 	<=ifq-r--49) -qtr-{t 

17dri 

(c)  

(d) -Trr-d -  fT 
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